3 (Sem-4) ZOO

2016

ZOOLOGY
( General )

( Theory )
Full Marks : 40
Time : 2 hours

The figures in the margin indicate full marks
for the gquestions :

Answer either in English or in Assamese

1. Write the correct ‘;hswer of the following : 1x4=4
©oTS AN 8% Teg fordl
(a) Respiration in Balanoglossus is
IR 3 R APifer XA
(i) branchial
G
(i) pulmonary
Eat
(i) tracheal

AR

(iv) cutaneous

L2ic
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(2)

(b) Doliolum belongs to
Sferer s I SBYS |
(i) Larvacea / wréifean
(i) Thaliacea / cefercafean
(iiij Cephalochordata / CWWBT
(iv) Hemimyra / czfiwizan

(c) Whales are included in the order
T ccd! 3ofs wEge 2
(i) Sirenia / w¥RMAW
(i) Primate / @If%Ca0
(iii) Cetacea / fRrbfRa
(iv) Rodentia / RICSARA

(d) Feathers of bird are modification of
TR MR R=e ot
(i) epidermal scale / IRETH IFE
(i) plates / %
(iii) dermal scale / o ¥
(iv) None of the above / TR 4bIe ¥

2. Answer any three of the following questions :
2x3=6

o7 R e R e T o :

(@) Write some principal features of
subphylum Cephalochordata.

| BN CFICARFGBR B 214 CaRiEs o |
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(3)

() Name the subphylums of the phylum
Chordata.

o FEBR BoIRCFLHR A o 1 -

(c) What is active flight or true flight?
e B3 A1 oS TR 6 2

(d) Differentiate = between Anura and
Urodela.

G F RGCINTAR F&rS =1y fordn |

(e} Write four main characters of the class ;
Pisces.

AT T oIRGT 2= cafiEs o o |

3. Write short notes on (én‘y two) : 5x2=10
oy ¢or o (R creem w1y
(a) Apoda
e

(b) Hemichordata
RSB

(c) Circulatory system' of Scoliodon
Fereny fRezrey
(d) Osteichthyes

oI
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(4)

4. Answer any two of the following questions :
10x2=20
OO PP TR I R T o :

(a) Describe the characters of class Aves and
classify up to the order with examples.
3+7=10

M afew Rermg I R T
TS @it ofte effiRerem =1 |

(b) “Reptiles are more advance than
Amphibia” Give a  comparative

explanation with examples. . 8+2=10
‘SR 2R Toraote QR BFS 17 SRR
TS b1 e 36 o

(c) Explain the characters of the subclass
Prototheria. Write' about the affinities of
Monotremata with other animals.  4+6=10

SR (ot SR@TR I
GG w151 S Afe ST T30 el |

Write a note of exoskeleton in vertebrates. 10
R oifg ReFEE WO (B B 1

Writ,e a comparative account on the
aortic arch of vertebrates. 10

TFE iy @R g B g R o |

. @

(e)

* k k
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